0000 I(00 0000)
1. 00000

000 §3.1-3.6, pp.29-46

goood

gboboobooooooooooooooboobobobob. boboo
obobooooooooooooboooobooboboobo. Oooooon
oboz202000000000~0.

(1 2
() o
(144)

C
B:(l 1), (5:(0 1) (145)
11 1 3

Az =b (146)

e JOODOOODOODOO

goooood

Br+Cx=0» (147)
doodospOOD0DOODOOD, 0000000
A=B+C (148)
gooooooooo.0oooooooooao
ailr a2 _ b1 b2 4 11 C12 _ bin +ci1 bia+eci2
a1 022 bar  boo Co1  C22 bay +ca21 baa +coo
(149)

oboboooobo.0obobo,0000000000000. o000
gogbobooobbooabbooobboobobooobboaon
gobo.gooooobooon,

- A 1 1 0 2 0+1 141 1 2 a
B+C = + = + + = =A
11 2 3 1+1 1+3 2 4
(150)

goo.

24



e JOOO

A=BC (151)
Az =b (152)

DExz =b (153)

ocoooobs0O0O00000O00. 0000DOO,0D000000D0O
ooooo.

DE — din dig) [enn ez  [duenn +dizear  direrr + digear
da1 daz) \ea1 €22 daierr + dagear  darern + dazeas

(154)

D—(l 0), E—(l 2) (155)
2 1 00

b (L O) (1 2)_(1x1+0x0 1x240x0) _ (1 2\ _,
“\2 1) \o o) \exi1+1x0 2x2+0x0/) \2 4/

gbooooood

(156)
00O
o= (3 ) - (a - ()
(157)
00O
DE + ED (158)
000.0000000000
DE=ED (159)

goooaoo.

25



obooOooooboobOoooobooboboooooooboooon
obO.20 2000000000

. (10
I = (0 1) (160)

Pt oyt 2} _(1x14+0x2 1x240x4) (1 2
70 o0 1) \2 1) lox241x2 ox2+1x4) \2 4

(161)

g

ah o (P 2) 1 o) (1x142x2 1x042x1) (1 2
>“l2 4)\o 1) \2xo0+4x1 2x0+4x1) \2 4

(162)
000000000000000000000 AOOO.
0000000000 kOO
N k k
KA = [0 T2 (163)
kaz1  kaga

OO0O000D k=20000

o [2x1 2x2 2 4
2A= (7" 7% = (164)
2x2 2x4 4 8

26

A

A



